AT R K AL B B 3

KB HTHE R — B3k

(CERk 3 0 4EFE)

O RPN (hEHM) R kL i
T B BT ﬁ@?& 4g108|5818|6A58|7A38|8A78|9m118|108168|11868| 128 | 1A | 28 | 38
B EFZ) - - 9:10 [ 9:05 [ 9:10 [ 9:00 | 9:00 | 9:00 | 9:05 | 9:10
KR C - 116.5 [20.1 [23.0 [26.6 |29.1 [25.0 [20.0 |20.2
PH pH |5.886l 7.4 72| 71| 73| 72| 7|77 7.7
BOD mg/0 60 3.7 1.4 40 0.7]06] 1.3]07] 1.8
COD mg/0 90 3.5 2034 36| 46] 28[31]5.0
SS mg/0 60 <1 2 <1 <1 <1 <1 <1 <1
KIGH R /e (3,000 <30 [ <30 | <30 | <30 [ <30 | <30 | <30 | <30
EROHE me/0 | 120 J12.0] 6.019.0[ 9.7 ] 9.0 2.5 [12.0 [19.0
sxafi (AMTEs) | me/0 | 60) f12.0| 8.8 17,0 9.5 8.9 2.4 [12.0 [17.0
TroE=THER | meg/0 % 4.1 05120 0.1 ] 0.3 ] 0.1 |<0.1]10.0
A EIyLkOzokEen| mg/b | 0.03 | — — |<0.005] — — — — — — — — —
T LAY mg/ 0 1 - —J<« -1 -1-1-1T-1T-1-1-1 -
AR AMEEW | me/o 1 — 1 —J<wi -1T-1T-1T-T-T-T-T1T-1 -
R OZOEY | mg/0 | 0.1 — — [<0.02] — — — — — — — — —
Az osfet| me/o | 05 | — | —Jos] - — | - - [ -] -1 -|-1-
EHROZOREW]| mg/0 | 0.1 - — [<0.01] — - - - — - — - —
FRIKER mg/0 | 0.005 | — —  |<o.0005] — — — — — — — — —
T xR NLKEUED | ne/0 nd — — [<0.0005] — — — — — — — — —
PCB mg/0 | 0.003 | — — |<0.0005] — — — — — — — — —
s el aAT i mg/ 0 30 — — <05 — - - — - - - — -
7= /) —VEEARE| mg/0 — — |<o0.025] — — — — — — — — —
HEA mg/0 - -l =1T-1T-1T-T-1T-1T-1T-1 -
HENE A mg/0 — — loo1 | — — — — — — — — —
gtk e e w0 0o | - = [l =T -T-T1T-T-T-T-T1T-1T -
Mmoo amk| w0 | 10 | — | — J<o1] — | = | =1 = | = = — | — | —
Ju G me/0 2 - —fwos| - -7 -1 -1-1-1-1-1 -
SoRROEOLEW| me/0 8 — — o2 — — — — — - — - —
VU EhHE me/0 | 16 | — [ —Joor| -] | -] -] -] -] -1+
VraAR (AN | me/0 [ (8) — | — Jo.o1 | — - | - - | - - | - - | -
FyrmmxFLro| mg/ | 0.1 — — |<0.002] — — — — — — — — —
FrormamxzFLro| me/o 0.1 - — [<o.001] — — — — — — — — —
vrvuargy |wme | 02 | — | —jo2f - -1 -] -1 - - —-1-1—-
DU Al iR R meg/0 [ 0.02 | — — [<o.002] — — — — — — — — —
AlL2-vrmmzsy | mg/0 | 0.04 | — — |[<0.004] — — — — — — — — —
Li—YZooxFLre | mg/l 1 — — |<0.02| — — — — — — — — —
vA-l2-vszmn=zFLo| mg/l 0.4 — — |<0.04| — — — — — — — — —
LlLl—hVZzoexzz| mg/0 3 — — [<0.001] — — — — — — — — _
LiL2—=tJzmaxzzr| mg/0 0. 06 — — [<0.006] — — — — — — — — —
L3—Ys7muru~r| mg/0 | 0.02 — — [<0.002] — — — — — — — — —
F 7 A mg/0 | 0.06 — — [<0.006] — — — — — — — — —
DA mg/0 | 0.03 — — |<0.003] — — — — — — — — —
FARHNT mg/0 [ 0.2 — — [<0.02] — — — — — — — — —
Ry mg/0 [ 0.1 — — [<o.01] — — — — — — — — —
L ROEOAEY]| mg/0 | 0.1 — — [<o0.01] — — — — — — — — -
TR « MR A® | me/0 % — — l12.0 — — — — — — — — —
139 EROEDOLEY| me/d 10 - — <1 — — — — — - — — —
L4—2AFV 2 | me/o | 0.5 — — |<o.05] — — — — — — — — —
gagxvg [l - o |- -{-|-|-|-|-|-]-

M OHERPEE SR + AR R + (7 B = TR RIRE X0, 4) 25100me/0LL T

()P H S
X MY ZunxF LoodkERER, FEak28F9A15H X V0. 3mg/00>50. Img/QUTEF & 7p o7,
¥ RITAROEDLEYOBKREEET, Fke8F3H 150 & 0. 1mg/0h>50. 03mg/UCEH & 7257z,
MEAFF LV VEOBRERL, ERETERMOEIRESZ O () & LTHE,




ALy 4 JE ) T 7K

1) &SR
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ML EAMS  hEER R

=&Y THA
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("Rt : No. 2)

No. 1)

-+ SHSEAL G S AR (RS H 22 1 O m)
e HSPAL S P R RS H 421 1 m)

« B No. LM (HAmfH)
E75 3 IRV

IE F Hif7 | RefE)4R138| 58188 6A14R(78128| 8A9H|9R 198 | 108108 118218| 12A | 1A | 2A | 3A
IKIR C | — |16.0 |16.4 |18.2 [18.8 |19.1 [20.9 |23.0 [19.8

ERURE R ms/m| — | 87 | 54 [ 80 [e6 |91 |76 |81 |75

Bk A A4 mg/0| — | 140 [ 50 [110 | 65 [ 130 | 100 | 99 | 60

TV X LIKER me/0| nd | — — |<0.0005] — — - — _ _ _ _ _
Tk ER me/0 |o.000s | — — |<0.0005] — — - — _ _ _ _ _
BRI A me/0 [0.003] — — [<0.0003] — — — - — —_ _ _ _
£ me/e ool — | — lcwoos] — | = | = = = = | = | - | =
(=N mg/0fo.o5) — | — |00t = | - -] - - - -1 -1 -
== me/0 0.01] — — |<0.005] — - - - - _ _ _ _
BT me/0| nd | — — |<0.1] — - | - — - =1 = — | =
PCB mg/0 | nd — — |<0.0005] — — — — - — — _ _
F)ZmpF L mg/0 [ 0.01] — — [<0.001] — - — — - — _ _ _
T hI7 oo F Ly [meg/o]o.01] — — |<0.0005] — — — - — — — _ _
A== mg/00.02] — | — [<o.002] — — | = - | = _ | = _ | =
iR ierES mg/0 |0.002] — — |<0.0002] — - — _ _ _ _ _ _
l.2—vZnunxi mg/0 |0.004] — — |<0.0004] — — — - — _ _ _ _
L1—>YZueaoxF Lo mg/t]01] — — |<0.002 — — — — — — — _ _
l.2—YZ7nunxF L |mg/e|0.04] — — |<0.004] — — — — - — _ _ _
LI.1I=—hVZve=¥ 2 |mg/0| 1.O] — — |<0.0005] — — — — — — — _ _
1.1.2— hYZ v | mg/0|0.006] — — |<0.0006] — — — — — — _ _ _
1.3—Y 7o Fa~2 | mg/ofo.002] — — |<0.0002] — — — - — — — _ _
FT L me/0 |0.006] — — |<0.0006] — — — - — _ _ _ _
DA mg/0 [0.003] — — |<0.0003] — — - — — _ _ _ _
FARTNT mg/0 | 0.02] — — [<0.002] — — — - — — _ _ _
_o¥ mg/0]0.01] — — |<0.001] — — — — - — _ _ _
L mg/0[0.01] — — |<0.002] — — — — _ _ _ _ _
1. 4=V FFH mg/0]0.05] — — |<0.005] — — — — - — _ _ _
sanxF L mg/0 [0.002) — — |<0.0002] — — — — — — _ _ _
FA A M N R e B O T e B e R e e e e

MK hUZumF Lo O KERET, 28549 H 15H X V0. 03mg/07>50. 0lmg/QICE TR L 22577,
A R T LAROZEDOLEMOPKIERET, FRk28F3H 15H £ V0. 0lmg/ 02> 50. 003mg/QIZ BT & 72> 72,




« UL No. 2l (& AEIH])

E75 3 IRV

IH F Hif7 | RefE)4R138| 58188 6A14R(78128| 8A9H|9R 198 | 108108 118218| 12A | 1A | 2A | 3A
IKIR C | — J17.9 |18.0 |19.0 [18.5 |19.9 [19.1 |18.3 [18.3

ERURE R ms/m| — | 270 | 290 [ 290 [290 |280 | 270 | 280 | 280

Bk A A4 mg/0| — | 730 [ 780 [820 | 770 | 730 | 760 | 720 | 760

TV XL IKER me/0| nd | — — |<0.0005] — — - — _ _ _ _ _
Tk ER me/0 |o.000s | — — |<0.0005] — — - — _ _ _ _ _
BRI T A mg/0 |0.003] — — |<0.0003] — — — - — _ _ _ _
£ me/e ool — | — lcwoos] — | = | = = = = | = | = | =
(=N mg/0fo.o5) — | — |00t = | - -] - - -] -1 -1 -
== mg/0 0.01] — — |<0.005] — - - - - — _ _ _
BT me/0| nd | — | — [<0.1| — - | - - = - - — | =
PCB mg/0 | nd — — |<0.0005] — — — — - — — _ _
F)ZmpFLr mg/0|0.01] — — [<0.001] — - — — - — _ _ _
T hI7 oo F Ly [meg/o]0.01] — — |<0.0005] — — — - — — — _ _
A== mg/00.02] — | — [<o.002] — — | = - | = _ | = _ | =
iR ieES mg/0 |0.002] — — |<0.0002] — — — _ _ _ _ _ _
l.2—vZnunx iy mg/0 |0.004] — — |<0.0004] — — — - — _ _ _ _
.1—>YZueuaxF Lo mg/t]01] — — |<0.002 — — — — — — — _ _
l.2—YZ7nunxF L |mg/e|0.04] — — |<0.004] — — — — - — _ _ _
LI.1I=—hVZve=¥ 2 |mg/0| 1.O] — — |<0.0005] — — — — — — — _ _
1.1.2— hY 7o | mg/0|0.006] — — |<0.0006] — — — — — — _ _ _
1.3—Y 7o a2 | mg/ofo.002] — — |<0.0002] — — — - — — — _ _
FT L me/0 |0.006] — —  [<0.0006] — — — - — _ _ _ _
DA mg/0 [0.003] — — |<0.0003] — — - — — _ _ _ _
FARTINT mg/0 | 0.02] — — [<0.002] — — — - — — _ _ _
_o¥ meg/0]0.01] — — |<0.001] — — — — - — _ _ _
L mg/0[0.01)] — — |<0.002] — — — — _ _ _ _ _
1. 4=V FFH mg/0]0.05] — — |<0.005] — — — — — — _ _ _
sanwnxF L mg/0 [0.002) — — |<0.0002] — — — — — — _ _ _
FA A M ol = oo = - - - -|-|-| -]~

MRV oo Ly OPKEREIT, 2849 15H K V0. 03mg/07h>50. 01mg/QITZE T & /e o7,

XK BT LROEDLEWOPAKIEEL, FR284315H £ V0. 01mg/07250. 003mg/QUZEH & 2o 7z,
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